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Figure S1. Cytotoxicity of the PPO compounds
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Figure S2. Activity Screen of Bifunctional inhibitors
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13C NMR of 2
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'H NMR of 6
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'H NMR of 11
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13CNMR of 13
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'H NMR of 14
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13C NMR of 14
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'H NMR of 21
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13C NMR of 21
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'H NMR of 23
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13C NMR of 23
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'H NMR of 24
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13C NMR of 24
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13C NMR of 25
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'H NMR of 26
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13C NMR of 26
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'H NMR of 27
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13C NMR of 27
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'H NMR of 28
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'H NMR of 29
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13C NMR of 29
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'H NMR of 30
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'H NMR of 31

bO'L
S0'£4
90'L
90'L
(0L
L0'L
80'L
80'L
80'£1
60'Z1
60+
9L
9T £+
JAVA
8T'L
6T LN
61—
£10QD 92’2
62'L”
0£'L”
0g'2]
1€
1€

.Ho.vul||J
UY—

69'9———

Ll

e
EL
EL
g€t
€8
8L
6b'/]
054
0S¢£
1S¢

bS8
bS8y
s5'8

958

1S¢L

E=S1e
gt

=01
¥6'0
Mv—._
M/E.N
P11

g0t

=007

5.0
f1 (ppm)

T
5.5




13C NMR of 31
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'H NMR of 32

(0204
(0204
fah4
V44

1297
TL'99
1291
0L
W]
1044
60'L
OT'ZA
A\
srLf
or'2” ﬁ
814
8124
812
612
61°L]
oz
12
12
€0 KL
YL
x’L
xL
(£EL

—

3

S8
88
658
658

)

20
*£02C

/560
071
n?o.ﬁ
01
Mmo‘m
86'0

*10T

f1 (ppm)



or'tL
8TL
8..HN ——

26'00T—

TOETT
N.V:W ]
A i
66pIT7, —
YA S ——
esza/

96T~ —of

19651~ -

$.mmv ]
BT

w ok S
LSt

§.§W|.

aregr =3
YE'ETT

13C NMR of 32

200 190 180 170 160 150 140 130 120 110 100 90
f1 (ppm)

T
210




'H NMR of 33
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13C NMR of 33
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'H NMR of 34
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13C NMR of 34
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'H NMR of 35
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'H NMR of 60
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13C NMR of 60
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'H NMR of 61
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13C NMR of 61
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13C NMR of 62
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'H NMR of 63
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13C NMR of 63
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13C NMR of 64
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'H NMR of 65
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13C NMR of 65
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'H NMR of 66
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13C NMR of 66
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13C NMR of 67
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13C NMR of 68
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13C NMR of 69
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'H NMR of 70
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'H NMR of 71
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'H NMR of 72
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13C NMR of 72
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'H NMR of 73

Hsc\'/cw
(o] (0]
1Y O
N

O

Z SN
NN

Br

mm.m./

LT
SLe
LT
KT
{7
&Le

ob'E
ﬁv.m.\

90t
no.vV.u

Tr'b~
£Sb~
657
(9%

0£'L
€L
bE'L]
be' L)
Se'L
o'/
e
2y
£b'L
£b'¢]
bb']
Sk
bSL
bS'L
SS¢
95,
(St
(St

£00ad wm.h#
4

9L'8
U8
)
a8

85¢L

1.0 05 00 -05

1.5

NeOmQ
(SRS R Rl a]

A

T
=3
o

T

* 60T

T

= 10%¢
%4
107

W
&
|o T T T T

T N
NR~3
T oied

125 12.0 115 11.0 105 100 95 90 85 80 75 70 65 60 55 50 45 40 35 3.0 25 2.0

f1 (ppm)



13C NMR of 73
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13C NMR of 74
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13C NMR of 80
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'H NMR of 81
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13C NMR of 81
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'H NMR of 82
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13C NMR of 82
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'H NMR of 83
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13C NMR of 83
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'H NMR of 84
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